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image6.jpeg
The rus shown & supported by @ pin af A and o roller of B s subjected o hwo verioal oross atfints C and .
Use (4] sign for ersion members ond ] ign for compression members

FEI300N, P=3900N..

Fu= (3677 N
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The frame has pin support at A and roller support at C. It is loaded by a distributed load w acting on member BE
as shown.

w=780N/manda=0.6m

a. Determine the components of the force exerted at E on member CDE with respect to the xy-axes.
Ex= 1972 N
Ey =|468 N

b. Determine the components of the force exerted at D on member CDE with respect fo the xy-axes.

Dx=|-1036 N
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The beam has a pin support at A and a roller support at B. It is loaded as shown.

F=240KN, P =480 KN, W =60KN/manda=0.8 m

a. Determine the vertical reactions at A and B

Ra=|[367.2 KN

Rp = [496.8 KN

B. Determine the absolute values of internal shear force V and the internal moment M at x = 5.6 m

v=[16.8 KN

M =|808.32 KN.m
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Locate the y-coordinate of the centroid of the composite area.

120 mm

160 mm

— -

100 mm

® A y'=98.1mm.
®B. y'=1041mm.
®C. y=785mm.
®D. y'=1202mm.

O E y=1106mm.
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Mark the 4 zero-force members in the fruss using the 4 mouse pointers provided.
Drag the mouse and drop if so the attached circle is on top of the member.

"5 pila e 5 () oS5 Cumy R puainll (5 g dmazn g Jguddl il aUal il Conal”
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Mark the 3 zero-force members in the truss using the 3 mouse pointers provided.

Drag the mouse and drop it so the attached circle is on top of the member.

a4l 5,020 0085 ing U ucinl (838 g 3l Gl AN 523 conal”
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The bar ABC is supported by a pin at C and the cable ADB and is loaded as shown. Neglecting friction and the
radius of the pulley af D, determine the fension force in the cable ADB.

F=932N

80mm 80 mm

® . T=12427N
® b T=13980N
® c T=4738N
© d.T=1009.7 N
® cT1=7767N

Clear my choice
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e USs s supported by a pin ot
averfical force atjoint k.

ot A and aroler at ot L.t s loadsd by a

Use (4] for tension members and. (1 for compression members
of
F=770N,P=53%0N, a=15m

. Defermine fhe verfical reaction af joint L.

Lv-!-!am N

b. Determine the components of fhe reaction atoint A.
A»:‘—Wu N

Ay={770 N

. Determine fhe axial force inmembers JK, JQ, PQ.

Fix=
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e forces are applied fo a bracket as shown. Point A lies at the origin of the xy-axes.
30N, F2= 60 N and F3=45 N
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image16.jpeg
he porailel force system s apped fo the foundation in the xy-plane as shown.
FI=94N, 22141 N, £3= 282N, F4= 376 N and a = 08 m
7

- Defermina fhe squivalent orce-couple esulian af fhe origin

Resullon!ferce inz.dreetion

)

The resullant momen! aboutx s
M N
The resultant moment abaut he v-axs

My~ tm

b, Delerming ihe coordinates of ihe ocafion ofthe equivalent sngle force i the xy plane
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DA y=101.5mm
B. y=190.3mm

& mm
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Three forces and a couple are applied fo a bracket as shown. The origin of the xy-axes is at O.

F1=93 N, F2=186 N, F3=62 N, m = 186 N.m and a = 380 mm
3

. Determine the equivalent force-couple resultant acting at O.

esultant force Component in x direction: :I N

tant force Component in y direction=| N
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The plate is subjected fo the parallel force system shown.

F1=260N,F2= 780 N, F$ = 1040 N and F4 = 1300 N

a. Determine resultant force of the force-system in the y-axis direction

R |72(>o [n

b. Determine resultant moment of the force-system about x-axis

Mx = 1560 EN.m

c. Determine resultant moment of the force-system about z-axis

Mz =|3510 lN.m

d. Determine the coordinates of location of the single force resultant of the force system in the x-z plane

xR:|13.s |m

- -
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e y-coordinate of ine centrold of the composie area.

Yy

x

y=755
y'=45.1 mm.
¥ =785 mm.
=688 mm.
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OD. y=45in.
OE y=4in.
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The frame has pin support at B and E and s loaded as shown. The pulley af D has aradius of 50 mm. Defermine
. the components of the reaction at £

b. the components of the nfemal forces af pin C acfing on member ACE.

252N and

. Components of the reaction af E

Ex=|6216 N

B

b. Components of the infemal forces at pin C acfing on member ACE





image5.jpeg
Determine the absolute values of the internal forces (axial force, shear force and moment) acting at section a-a
located on the figure.

F=140KN, Q=70KN, L=5m,x=25mandd=1.25m

Axial Force (N) =|70 KN

Shear force (V) =140 KN

Moment (M) =|262.5 KN.m




